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Parent Function:  
f(x) = 
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Type of Graph: 
Hyperbola



Asymptotes: 

Vertical:  x = 0 

Horizontal:  y = 0
Domain & Range:  
(-∞, 0) U (0, +∞) 
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How to graph a rational function:

1.    Find the equations of the asymptotes and draw them on the graph.  

2.    Find at least two points on each “branch” of the graph.  Draw the branches of the hyperbola through 

       the points and approaching the asymptotes.

Graph each function.  Then state the asymptotes, domain and range of each.
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Find the asymptotes and the domain and range of each function.  Then complete the equation.
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Reciprocal Function:  f(x) =� EMBED Equation.3  ���, where a(x) is a linear function and a(x) ≠ 0
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